


ESEGUI  LE  EQUIVALENZE  (dopo aver trovato a mente il valore di ogni cifra)


2,65  m2   =................ cm2


24.128  m2 =....................km2


6,3450  m2 =...................mm2


8  m2 = .....................cm2


8  dam2  =  ................... cm2


2,37 m2 =.....................dam2


0,59 km2 =.....................  m2


11,80  m2 = ........................hm2


24 km2 =........................m2


24 hm2 =........................m2


3,80 km2 =........................m2


120 hm2 =......................km2


120 m2 = .......................hm2�
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